Tableaux des Puissances de Dix (])

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (J) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 100 0,0001 0,001 10
1,37 137 0,000137 0,00137 13,7
7,13 713 0,000713 0,00713 71,3
4,31 431 0,000431 0,00431 43,1
6,55 655 0,000655 0,00655 65,5
2,75 275 0,000275 0,00275 27,5

X 0,0001 0,01 0,001 10
4,22 0,000422 0,0422 0,00422 42,2
1,56 0,000156 0,0156 0,00156 15,6
9,28 0,000928 0,0928 0,00928 92,8
8,67 0,000867 0,0867 0,00867 86,7
3,12 0,000312 0,0312 0,00312 31,2

X 100 10 000 10 1000
2,02 202 20 200 20,2 2020
7,28 728 72 800 72,8 7 280
4,72 472 47 200 47,2 4720
9,64 964 96 400 96,4 9640
5,64 564 56 400 56,4 5640

X 0,0001 0,01 1 000 0,1
1,45 0,000145 0,0145 1450 0,145
3,75 0,000375 0,0375 3750 0,375
2,69 0,000269 0,0269 2690 0,269
5,99 0,000599 0,0599 5990 0,599
8,45 0,000845 0,0845 8 450 0,845
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